% 5&3 $$$ g% Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:
3,008 x 1000 = 4,512 x 1000 =
4,324 x 1000 = 5,852 x 100 =
7,488 x 100 = 9,808 x 100 =
7,981 x 10 = 10, 192 x 1000 =
5,478 x 100 = 10, 651 x 100 =
7,844 x 1000 = 8,812 x10=
3,314 x 100 = 1,816 x 1000 =
10,302 x 10 = 2,153 x10 =
1,304 x 100 = 6,216 x 100 =
4,46 x 1000 = 7,906 x 1000 =
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% 5_8_8 @% $ & Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:

3,008 x 1000 = 3008 4,512 x 1000 = 4512
4,324 x 1000 = 4324 5,852 x 100 = 585.2
7,488 x 100 = 748.8 9, 808 x 100 = 980.8
7,981 x 10 = 79.81 10, 192 x 1000 = 10192
5,478 x 100 = 547.8 10,651 x 100 = 1065.1
7, 844 x 1000 = 7844 8,812 x 10 =88.12
3,314 x 100 =3314 1,816 x 1000 = 1816
10,302 x 10 = 103.02 2,153 x10=21.53
1,304 x 100 = 130.4 6,216 x 100 = 621.6
4,46 x 1000 = 4460 7,906 x 1000 = 7906
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